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This paper consists of 11 printed pages.
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There are two parts

PART 1: 30 Multiple Choice 60 Marks
PART 2. 8 Structured Questions 40 Marks
TOTAL: 100 Marks

« Answer ALL questions in Part 1 and 2.
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Part Qne: Multinle Choice Questions

w L Uf I,ie . - 1 : .
t .hDWlﬂg IS NOi & uncuoon ol INe skeieton ior numans

Supports the body
It protects the vital organs
It stores minerals in the body

it is dangerous to some parts

(60 marks)

(.. 0 T W

2. The female part of the flower consists of:
a Ovary

b. Stigma
c. Style
d Al of the above

3. Which of the following is correct?
a. Arteries carry blood to the heart

b. Veins carry oxygenated blood to the heart
c. Arteries carry blood from lungs
d. Veins carry blood to the heart

4. The types of pollutants to water include
a. Crude oil spills at sea
b. Waste water added
; c. Aand B
d. None of the above

5. Which of the following are not chicken diseases | m*
a. Cough s ﬁ
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= \Which one of the following is & 1oXit cigarette

2. Kad

L=

b Nicotine
c. BandT
d None of them

8. The benn*‘itﬂ of brmf-‘-t feedmg h:;r the DaDy INCIUUE ¢

Breast rm!k contams suppemng mmerals |

Breastfeeding contributes birth contro method
Breast mitk is bad for a2 baby's development

bt LA

o T

cL

: ?
g When the bacteria multiply into 40 minutes, how many bacteria can there be :

a. 2
b 4
g B
d 8

10. Appropriate steps to prepare farm land include:
a. To cutdonw trees and grass
b. To plant plants and grass
c. To plant weeds organs land
d. Not clearing farm land from plants and grass which have been cut

11. Which of the following is not chemical change
a. A paper which is burnt
b. Melted ice W
c. Magnesium burnt with oxygen W
d. Calcium that react with hydrochloric acid | e

12.Filtering method is used when
a. Mlxnd itoma are different in siza
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14 Citric acid is found ir
& Sour milk
b. Sour lemon
c. Grapes
d. Black tea
10. Thie acids that is found in car battery is Kiowii as
a  Nitric acid
b. Hydro-chioric acid
c. Suifuric acid
d. Ethanoic acid

16.C+ O > CO;
The types of this reaction is
a. Displaced reaction
b. Direct reaction
c. Separation reaction
d. None of them

17.Covalent bond connects
a. Metal and non-metal
b. Two or more atoms of a metal
¢c. Two or more non-metal atoms
d. None of the above

18. Which of the following is a property of a base g
a. Bases convert the red litmus paper into blue AR e e SR
b. Bases react with acid to form salt and water oy e

c. They have sour taste
d. They have bitter taste

19. mmmmmhmu
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2. the atiract veE 101 -
metais is known 38
3 (Covalent bond
b lonic bond
o Metallic bonc | -
§ Bomor s icn o1 iNe foilowing 1S cul

21

-

2. Heat passes thicu
b The metal contracts |
c. Heat passes through it by radlatioﬂ
B

22.Sound travels fastest in
a. Vacuum
b AIr
c. Solids
d Liquids

23.1f a bar magnet is cut into two pieces
a. Each piece beccmes weak
b. Both pieces lose their magnetism
c. One piece becomes strong which the other becomes weak

d. Two magnets are created

24 Potential energy and kinetic energy are collectively called

a. Kinetic energy
b. Sound energy _ o
c. Potential energy 2 o
d. Mechanical energy A

25. Which of the following is an example of eye defect P __
a. Eyelens _ T :
b. Iris of the eye e
c. Trachoma
d. Retina
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a Distance

25 Scles of tyres are arooved (made rough) The advantage of this is
a To reduce friction

b To increase the life span of the tyre
C. For decoration
d. To increase friction

29 When the image of a body is formed in front of the retina. the defect is cailed
a. Good vision
b. For sightedness
c. Normal vision
d. Short sightedness

30. The acceleration of a body is given by:
a. Initial velocity — final velocity

_Time

b. Average velocity — final velocity

Time

¢ Initial time — Initial velocity

Time

d. Final velocity - initial velocity BN

Time
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Part Two: Structu red Questio

1 Name the organ
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The table below shows (e pais

z. e taui '
4 its shielded
shielded , match each organs: an . o ~Fhis shi olded
Skeleton | _
T ‘ inal cord
Hips T = 4
- | Heart and 1ungs
: skill i
| ribs Bfain and eyeﬁ
- | Bladder and in the womb
| Back bone 1 -

urth components that affect photosynthesis? ( 4 marks) g r
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4. Balance these chemical equations: e it
a. Na+CL2 NaclL
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b. Ca+ MClL(aq CaCl + Ho (2 marks)
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C. Na+ HS0. Na;S0s + Hz (2 marks)
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a. What is a chemical reaction? (Sma )
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b. What is a chemical equation? (3 marks)
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What is the result? (2 marks)
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The figure shows a circuit containing two lamps (or bulbs)

Are the two lamps (bulbs) connected in series or parallel? (3 marks) Py e
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b. If one of the lamps blows out or is removed, wh at will
lamps?

g N
-~ o L3
-
" T I.!_

_______

Scanned by TapScanner



